7

(llf) Given that this power is suddenly increased by 12kW, find the instantaneous acceleration
of the car. 3]
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(b) The car now travels i a constant speed of 32 m s~ up a section of the road inclined at 6° to the
horizontal, with the engine working at 64 kW.

Find the value of 6. gama 80 F 3D 2
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8 A particle P moves in a straight line, starting from rest at a point O on the line. At time fs after

leaving O the acceleration of P [s k(16 - #) ms™2, where k is a positive constant, and the displacement
from O is sm. The velocity of Pis Bms™! when 1 =4, .mnd\u_w
e

(8) Show that s = £2(96 - £),
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